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QUESTION 1

Consider the following diagram: 

Which answer most accurately interprets what the diagram indicates about the goal "Reduce Expense Ratio from 13%
to 11% in 2012"? 

A. The goal is decomposed into three other goals 

B. The goal is similar to the three other goals 

C. The goal must be achieved before any of the other three goals is achieved 

D. The goal will be achieved if at least one of the other three goals is achieved in 2012 

Correct Answer: A 

 

QUESTION 2

Consider the following four diagrams: 
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Which diagram depicts a "Policy application" as an application component with the two application functions "Offering"
and "Calculating"? 

A. Diagram 1 

B. Diagram 2 

C. Diagram 3 

D. Diagram 4 

Correct Answer: C 

 

QUESTION 3

Consider the following symbol, which represents information about a transformation project at ArchiSurance involving
systems and business processes: 

Latest OG0-021 Dumps | OG0-021 Study Guide | OG0-021 Exam Questions                                3 / 6

https://www.pass4itsure.com/OG0-021.html
https://www.pass4itsure.com/OG0-021.html
https://www.pass4itsure.com/OG0-021.html


https://www.pass4itsure.com/OG0-021.html
2022 Latest pass4itsure OG0-021 PDF and VCE dumps Download

Which of the following statements correctly expresses the meaning of the symbol? 

A. The ArchiSurance legal department has determined the impact of the new regulations 

B. The project must satisfy requirements for additional reporting 

C. The additional reporting requirements in new insurance regulations are driving change at ArchiSurance 

D. The project\\'s systems must be flexible enough to accommodate any future changes in reporting requirements 

Correct Answer: C 

 

QUESTION 4

Consider the following diagram, which represents a migration from a Baseline to a Target Architecture: 

Which of the following answers best interprets the unlabeled symbol in the middle of the diagram? 

A. It represents a relatively stable intermediate state during the migration from the Baseline to the Target Architectures 

B. It represents a project that progresses the architecture from Baseline to Target 

C. It represents the deliverables necessary to transform the architecture from Baseline to Target 

D. It represents a conceptual point of transition between the two architectures, but one that is unlikely to exist in reality
for more than an instant 

Correct Answer: A 

 

QUESTION 5

Consider the following diagram, in which CSR stands for Customer Service Representative: 
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Which of the following statements is expressed by the diagram? 

A. CSR Training has four key modules, each focusing on a different topic 

B. The CSR Training business service is valuable in four different ways 

C. CSR Training is a basic service, upon which four sub-services depend 

D. CSR Training accesses four different types of information 

Correct Answer: B 
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